10. 4

Pre-AP Precal

Series and Sequences
Name ESQ\IQ @’\/’f WJ‘ Date . e

Fi PE .
nd the sum, if jt exists. Express using sigma notation.

e{ 1. a+("%)+£6+("i‘6%6)+'” Ae. —12-—-7(—;2+3+8+13
09 S on-1?
n=\

e

L]

7. Write the first 4 terms of the geometric sequence
whose 5th term is 6 and whose common ratio
2. In a geometric ] e 9 6 18 ":'23"
a progression, the 5th term is s and
the 11th term is 144. Find the first 3 terms.

—

94 +4 q 7=
4 > 32 |y

22,4, B -Y

8. Ifaj3 =7 and a;7 =23 in an arithmetic sequence,
A find the sum of the first 20 terms.

3. What is the 7th term of the geometric progression o ko O
—025,125....7

— \

State the next 2 terms of the sequence and give a

2 6 formula for the nth term.
9. 72,70, 68, 66,64, 92, WO

A 4. The ninth term of an arithmetic progression is an = :} L‘ - Zn

25 and the common diffference is 1.5 What is the
first term?

l 6 10. In an arithmetic sequence, a5 = 6z + y

and ag = 9z — 5y. Find ag; and the sum of the
ﬁ first 22 terms.

q;Z: 23X'%%\’
022 = 219X-2 0N

11. Which term is 153 if an arithmetic sequence

25 P\ begins —9,-3,3,9,...7

——

12 N=28

5. If p, 5, and 12 are consecutive terms of a
é\ geometric sequence, find the value of p.



12. Find the common ratio and the next 2 terms for

C the geometric sequence 6, 3, g, -
7 H 9

A 13. How many terms of the arithmetic series
18+ 12+ 6 + - - - must be added for the sum to

be —20707
20

14. Find the sum of the geometric series
G‘ g +is+i+-+16.

1305
o4

A 15. Find the sum of the series 8 +2—-4—10---—106.

-480

State the next 2 terms of the sequence and give a
formula for the nth term.

16. 3,927, 81,243,320, 72137

Q] An= 5(3\“"

17. Find the sum of the first 7 terms of the geometric

Q series 162 + (—54) 4+ 18 + - --
1094

18. Find the sum of the first 16 terms of the
A sequence —18,—15,-12,...

12

19. In an arithmetic sequence, a3 = 5k + 37 and
p( a3 = 4k + 4j. Find as.

-k+9)

Simplify.

20.

2(17 3c)

e=1

10
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Find the sum, if it exists.

22.

¢

23.

A

24.

5

its+1+2+-

61 SBV\QS d\\l@fqu

O+3+1+-.

it

7

Find the 38th term of the arithmetic sequence

103,99, 95, ...

-45

Which term is
3125, 625, 125, .

I._.

6

N

9
l?

\O

in the geometric progression



